x2 -4

2x2 — 4x,




2.

0<a<22 W, /a-22+ /(2-a)2 &

® -2a+4 @ 2a+4
@ 2qa-4 ® -2



3.

A=V5+V3,B=+V5+1,C=3+ V3L, 7}%

DA @ B ONe
@ A=C G A=B=C

rlo

¥



4.

a>0,b>0 %2, 33 F &4 &2 A& 5 1 A2
ab  b+a Vb ab
q @ _ bV o Yo _ Nab
Va a cva ac
a ab b b+a
@ [fi-2 o b _byVa
b b cva ¢

ODOe,6e ©0,e 06 ®o e 6o,




o2 ey o), abe] AE

--2b~ .



6.  (atb)a—b)=a?—b? S ol&ate] Ate] 7 hure AL

O 1982 @ 1012 ® 47x53

@ 101 x 103 ® 203 x 302



3+ k-96=3(x+4)(x+] ]

& e
c



B8 a1 30 § 1 2 ATl A4
A ), ©, ©= A=EE UEs A9
a’® +3a-2)(a® +3a+4)-27
=(-2)(t+4)-27T=*+2-0
=(+0O)(r-©)
(a +3a+ O)(a 2+3a—@))
® 35,5,7 @ 27,7,5 ® 27,5,7
® 35,7.5

@ 35,7,-5



A(VAR), B(V192) Atelo] & M (k) ©ll tste]
2t & off, x o] gt Fotod=t.



10. ax®+24x+b = (3x+c)® A W, B4 a, b, ¢ & F= 2= F5pA?

@ a=9,b=16, c=—4 @ a=9,b=8, c=4
®a=9,b=16, c=2 @ a=9,b=16,c=4

® a=3,b=-8, c=4



